VERBAL SECTION : SECTION B
Directions for Q. 1 to Q. 5: In the following the questions choose the word which best expresses the SIMILAR meaning of the given word.
1. BLUFF
1. Honest		2. Clean			3. Betray		4. Honest
(Answer: 3; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Easy)
2. DUTIFUL
1. Devoted		2. Betraying		3. Faithless		4. Negligent
(Answer: 1; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Easy)
3. RIGID
1. Extroverted		2. Brave		  3. Bold			4. Severe
(Answer: 4; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Easy)
4. CRUCIAL
1. Trivial		2. Important		3. Inessential		4. Unimportant
(Answer: 2; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)
5. LAUNCHED
1. Commence		2. Cease		3. Elevated		4. Stop
(Answer: 1; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Easy)
Directions for Q. 6 to Q. 10: In the following the questions choose the word which best expresses the OPPOSITE meaning of the given word.
6. EVOLVE
1. Advance		2. Derive		3. Reduce		4. Block
(Answer: 4; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Easy)
7. OBSOLETE
1. Ancient		2. Extinct		3. Current		4. Superannuated
(Answer: 3; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Difficult)

8. AFFLUENT
1. Destitute		2. Prosperous		3. Opulent		4. Upscale
(Answer: 1; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)
9. RETRIEVE
1. Fetch			2. Relinquish		3. Recall		4. Reacquire
(Answer: 2; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)
10. RETRENCH
1. Reduce		2. Prolong		3. Develop		4. Enlarge
(Answer: 1; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)
Directions for Q. 11 and 12 : Each question below has two blanks, each blank indicating something that has been omitted. Choose the set of words for each blank which best fits the meaning of the sentence.
11. A model based approach has been ________ to identify the factors that are ________ for the problems faced by rural areas.
1. approved – made				2. identified – made
3. adopted – responsible			4. Pursued – guilty

(Answer: 3; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)
12. Deemed Universities __________ huge fees, but have not been successful in providing _______ education to our students.

1. ask – good				2. charge – quality
3. collect – maintaining			4. pay – better

(Answer: 2; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Easy)

Directions (13-20): Read the following passage carefully and answer the questions given below it. 
Thinking of what education might look like in the next decade, one quickly realizes that the trends in technology are leaving a large number of our students behind. Today is an age of exponential change. New and ever-improving technologies are popping up every day and in every corner of society. Educating the best and the brightest in this brave new world will take a new and improved educational paradigm. Allowing our educational tools to age in the corner of the classroom will be the mistake that may cost us our future. Throwing away masses of children to inequitable access will ensure that we languish at the bottom of the global pool of employable workers for decades to come. Technology will shape the way we educate students in the next decade. A user is not simply a person who uses. For the student, being a user should involve using the latest technology in a free and autonomous manner. This new-found freedom will allow the student to become an active participant in his/her education instead of a passive passenger. In our current technological society, being a user also means being tracked. Tracking a student means having the ability to target education towards weaknesses and strengths. The ability to accurately customize curricula to the individual has been the holy grail of educational philosophy for many years. This golden age of technological development may soon enable this dream to become a reality. 
Current educational curricula and individual assessment is arbitrary at best. Accurately assessing a student can only be achieved by using modern tracking and database technologies. Imagine a world where every child has a tablet computer with ready access to the internet. Further, imagine that every student can access all the knowledge of humankind freely at any moment in time. Continue to imagine a world where a misspelled word brings up a spelling challenge application instead of an auto correction. Try to contemplate what it would mean for a teacher to have a database of every misspelled word, every misunderstood concept or every missed, equation for each of their students. Try to envision a teacher with the ability to customize the experience of the individual "user" with minimal effort. Imagine the curriculum being automatically targeted to the user through an intuitive educational platform that knows all strengths and each unique weakness. In the last few hundred years, most individuals would consider an education as something you receive. You often hear the question asked, "Where did you receive your education?" As we proceed through the next decade, education will slowly move away from reception and toward being custom designed for the individual user. New technology will not only allow us to receive an education, but also develop an education. The question we might ask in ten years, "How did you develop your education?" The question of where will still be important, but the how of the matter will be the focus that defines the individual. 
To make this a reality we will need a standardized platform from which to develop a student's unique education. This standardized platform will allow us to tailor a custom curriculum that will be matched to talents, interests and life goals. For the educator, a standardized platform will create a way to assist the student in discovering a true purpose in life through a unique educational experience. The basics of reading, writing and arithmetic will not be taught as much as they will be discovered and used. Learning will become a reciprocal experience between the teacher, the student and the machine. 
Under a standardized platform, each of these three participants will have a role to play. The teacher will be the facilitator, assisting the development of the curriculum and inspiring the direction the student takes. The student will be the user, gathering resources, skills and knowledge in an efficient and measured sequence. The machine will do the work of data gathering and analysis, which will assist the teacher and student in refining the curriculum. This data gathering work of the machine will also free the teacher from the burden of record-keeping and tedious tasks that currently distract  from the real job of teaching and learning. Under a standardized system, grade level will be far less important. Achievement and progression will be measured by accomplishment and intelligence as a benchmark for success. The question of failure or success will be irrelevant and replaced with a standard and consistent measurement of potential and overall intelligence. Information will no longer be missed but continually rehearsed and monitored for retention by the machine. Tasks such as data tracking, reporting and record keeping are currently accomplished manually. These tasks could easily be delegated to an intuitive database. Developing a standard to follow would eliminate these tasks and free the teacher to do their main job of teaching students. 
The next decade may mark the moment in history when all are granted equal access to technology. Access to quality education will only be gained through investment and universal standardization of this technology. If we continue to divert wealth towards fruitless goals and corporate greed, this opportunity will be lost or hopelessly delayed. 
13. According to the author, which of the following will be the benefit(s) of introducing a standardized technological platform?
 (A) Potential of a child will take precedence over the grades he/she scores. 
(B) Improving the educational syllabus would become easier. 
(C) Teachers would be able to devote more time to teaching. 

1.Only(C)   	 2. All (A), (B) and (C)  	       3. Only (B) 		 4. Only (A)
(Answer: 2; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)
 14. Which of the following is/are true in the context of the passage? 
(A) In the presence of technology each student would require constant monitoring by other individuals to maximize learning.
 (B) Educational philosophy is based on the belief of tailoring educational syllabus to individual student capability.
 (C) The author visualizes that each student 'will have access to technology in the future. 

1. Only (A) 	2. Only(B)	 3. Only(C)	 4. Only (B) and (C) 
(Answer: 4; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Difficult)
15. Which of the following is possibly the most appropriate title for the passage? 

1. Technology - Reshaping the Future of Education 
2. Technology - A Welcome Relief to Teachers
3. Education - Arbitrary But a Reality
 4. Technology and the Economy

(Answer: 1; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)


16. How, according to the author, will the perception towards education change over the next decade?
1. Education will be viewed as a prerogative of the elite only
 2. Creativity in an individual will be regarded as needless
 3. The importance of education will decline 
4. None of these

(Answer: 4; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)
 17. What does the author mean by the term "tracking a student”?
1. Following a student to the educational institute that he visits frequently in order 'to estimate the time he spends there
 2. Analyzing the strengths and weaknesses of a student and designing an educational syllabus accordingly
3. Analyzing the positives and negatives of an educational institute and modifying it suit- ably to cater to industrial requirements 
4. None of these

(Answer: 2; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)
18. According to the author, why is the current education provided not satisfactory ?
 1. The teachers providing education are not qualified enough to emphasize on quality 
2. The educational sector is fraught with corrupt practices and thus does not produce the desired result 
3. The education system is not guided by technology and hence the pace of learning is slow
 4. There are too many schools in the country which cannot be monitored effectively

(Answer:  3; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)
 19. What is the author's vision regarding the integration of technology with education?
 (A) A substantial database consisting of each student's learning curve would be readily available.
 (B) An error would activate a software which would encourage learning rather than auto-correcting. 
(C) Experimentation in academics would be encouraged. 

1. Only(C)    	 2. Only (A) 		3. All (A), (B) and(C)         	 4. None of these 
(Answer: 3; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Difficult)
20. How has the author defined the term ‘user’? 
1. One who invests in the latest technology even when it is beyond his/her means
 2. One who uses available technology to the maximum and for the longest period
 3. One who freely and actively participates in acquiring skills and knowledge in a systematic manner 
 4. None of these
(Answer: 3; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)
Directions (21-24): Which of the phrases (1), (2), (3) and (4) given below each sentence should replace the phrase underlined in the following sentence to make the sentence grammatically meaningful and correct.
21. The researchers found that children with lung disease are at increase risk for developing a second type of pneumonia. 

1. are increasingly risky
 2. were at increased risk 
3. is increasingly risking
 4. No correction required

(Answer: 2; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Easy)
22. This decision by the government making it easier for companies / to attract talent from abroad. 

1. make easier 
 2. will make it easy 
3. make it easier
 4. No correction required

(Answer: 2; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Easy)
23. The next two months are going to be very hectic as there is more six projects have been scheduled.

1. No correction required
 2. with six more 
3. as more than six 
4. still there are six other

(Answer: 3; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)
24. The workshop was jointly held by the two colleges to create awareness about various careers.

1. will be joint holding 
2. was a joint holding for 
3. is been jointly held with
 4. No correction required

(Answer: 4; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)



Directions for Q. 25 to Q. 27 : Rearrange the following six sentences (A), (B), (C), (D). (E) and (F) in the proper sequence to form a meaningful paragraph; then answer the questions given below them.

(A) However, many people may not be aware of the numerous other areas where it has been applied.
 (B) Today, even, those who have little knowledge about the production of virtual reality are now most likely aware of its use in video games. 
(C) Similarly, medical students have substituted a cadaver for a fiber glass mould of a body and a headset when training to perform surgery. 
(D) Virtual reality was an unfamiliar concept to many people till the early 90's. 
(E) Introducing virtual reality to the real world, thus, has already proven to be beneficial for every industry it encounters. For example, astronaut'  trainees have recently used virtual reality to simulate a trip to space.

25. Which of the following should be the THIRD sentence after rearrangement?

1. A		2.B		 3. C		4. D

(Answer: 1; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)

26. Which of the following should be the FIRST sentence after rearrangement?

1. A		2.B		 3. C		4. D

(Answer: 4; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)


27. Which of the following should be the FIFTH sentence after rearrangement?

1. D		2.E		 3. C		4. F

(Answer: 3; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)



Directions for Q. 28 to Q. 30 : Rearrange the following six sentences (A), (B), (C), (D). (E) and (F) in the proper sequence to form a meaningful paragraph; then answer the questions given below them.

(A) With all the bid information being available and tracked online, corruption has been considerably reduced.
 (B) Today, most i.e. over ninety- five per cent households, in the city enjoy a broadband connection.
 (C) All city contracts are now bid for online.
 (D) Over twenty years ago the city government, central government arid the private sector made a concerted effort to shift the economy to include IT. 
(E) As our cities continue to expand and become more complex, such a system will make governance more manageable. 
(F) This level of connectedness has changed not only the city's economy but also how it is governed and how business is conducted.

28. Which of the following should be the SECOND sentence after rearrangement?

1. C		2.B		 3. E		4. D

(Answer: 2; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)

29. Which of the following should be the LAST sentence after rearrangement?

1. E		2.C		 3. F		4. A

(Answer: 1; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)

30. Which of the following should be the FOURTH sentence after rearrangement?

1. C		2.D		 3. F		4. B

(Answer: 1; Experience: None; Taxonomy: None; Score: 1; Wscore: -0.25; Shuffle: Yes; Level: Moderate)
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